OWLS Maths Homework 
You must complete at least TWO of these tasks.
A
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B 
Work out using the method of your choice (grid method or long multiplication):
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C
Work out using the method of your choice (grid method or long multiplication):
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Challenge 
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Multiplication and Division Multi-step Problems

5. At a Christmas party, there are six boxes of
Christmas chocolates. Each box contains 12
packets, with each packet containing nine
Christmas chocolates. The chocolates are
divided equally among 54 people. How many

chocolates does each person receive?
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Multiplication and Division Multi-step Problems

6. Grace wants to buy seven of her friends a
Christmas gift. She intends to buy each friend
the same gift. She has £38.75 to spend. She has
to choose between a mirror for £5.50 and a
notepad and pen set for £5.60. Explain what

Grace will do.
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